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LDAA #$88 +3A
ADDA #39A 52
After the ADDA exeoutes, A=$_2Q 2 H=1 c=IN=0z=0v=1 @ @
)
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ADDA #$7C + 7C
After the ADDA executes, A =$ DY H=1 Cc=0N=] 7z=0vy=1{ /.D'T
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LDAA #$58 ©: DS
SUBA #$AC 58
After the ADDA executes, A=$ A C H:L(C:/_N=I_Z=QV:L “AcC
e Ac
LDAA #$88 S ’3‘&23&7 A @ ~O
CMPA #$34 ¥ _ o
After the ADDA executes, A=$ $8 H=X C=0ON=027z=0V=1 —-3¥4
5 H
Target: LDAA #3FF
CMPA #2
Bxx Target

If Bxx = BEQ, will the program branch to location “Target™? No
If Bxx = BGE, will the program branch to location “Target™? N o
If Bxx = BHS, will the program branch to location “Target™? Y e~
If Bxx = BRA, will the program branch to location “Target” ﬁfaz

What signed 2-s complement byte value must follow the Bxx op code? $ FA

(Hint: all 3of the instructions Sh(m = BEQ, will the program branch to location
“Target™? 3K pe+#f ,.\
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